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1. There are 87 passengers sitting in a train.
There are 32 passengers standing in the train.

How many passengers in the train?

2. Carter has 76 nails.
He buys another packet of 72 nails.

How many nails does Carter have now?

3. Gavin buys a packet of crisps and a packet of sweets.

The packet of crisps costs 72 p
The packet of sweets costs 35 p

Work out the total cost of the crisps and the sweets.
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4. There are 90 girls at a play.
There are 26 boys at the play.
How many children at the play altogether?

5. Claire has 81 rawlplugs.
She buys another packet of 24 rawlplugs.

How many rawlplugs does Claire have now?

6. There are 82 passengers sitting in a train.
There are 63 passengers standing in the train.

How many passengers in the train?

4. There are 90 girls at a play.
There are 26 boys at the play.
How many children at the play altogether?

5. Claire has 81 rawlplugs.
She buys another packet of 24 rawlplugs.

How many rawlplugs does Claire have now?

6. There are 82 passengers sitting in a train.
There are 63 passengers standing in the train.

How many passengers in the train?

OO0 secret + sign (8) SRS Learning Limited



